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ZOOLOGY A
( Honours Generic/Regular)

Paper : ZOO-HG-3016/RC-3016
(Physiology and Biochemistry)
Full Marks : 60
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.
1. Answer the questions as directed: 1x7=7

Ao SRR Ses Al g

(a) Which of these hormones is made by
the posterior pituitary ?

Ao waERe foose @Ry T3 ol
PRI Rt 71 2

() FSH

i) LH

(i) ACTH

fiv) ADH

Contd.



(b)

(c)
(d)

(e)

(9)

State True or False:
T o T [ =08

Membrane potential is the voltage
difference between inside and outside
a nerve membrane.

(TR S el WY (TER ooy wig
312<9 SreveR AL |

What is tidal Volume_?
CETRIRY S & 2

Parietal cells secrete .
(Fill in the blank)
ARG @I AR

Identify the hormone that increases the
glucose level of blood.

(o%re FCR At Ifa I TR e 7|
(i) Insulin

(i) Glucagon

(iii) Oxytocin

(iv) Vassopressin

are enzymes that differ in amino

acid sequerice but catalyze the same
chemical reaction.  (Fill in the blank)

TLEHIRIR AR GfRT T o9 g !
IR Rierare SeEss Bist B |
Gluconeogenesis is the generation of

glucose from non carbohydrate sources.
(State true or False)

PRI oy (IR TFRINGE TSR o)
LFER Testw 311 | (3% 7 9ug)
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2.

Answer in brief :

2x4=8

T GeT fml ¢

(a)

(b)
(c)

(@)

State the characteristics of respiratory
pigments. o
W-erPTERe IGF sMdT RSy T =1
Define synapse. .
eifee ket |

. Draw a labelled structure of neuron.

FRCPRT ot iz fog o =
What is meant by electron transport
chain ?

BERREA SR )z e [ @

Write short notes on: (any three)

5 GBIl ot 3 (Rieseant fofoY)

(@)
(b)
(c)
(@)

(e)

5x3=15

Muscle protein

(opTI aifow

Composition of blood

(O oI ol

Histological structure of adrenal gland

e AfET ST Ao
Enzyme inhibition

TS A

Glomerular filtration
TRAR ARONES
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4. (o)
(b)
5. (a)
(b)
6. (a)
(b)

What is action potential ? Explain the
steps of generation of action potential

in neuronal membrane. 2+8=10
G AT B 2 FTe s @57
AHADCIS TR TR BT 3 |

Or/dt

Describe the sliding mechanism theory
of muscle contraction with proper
diagram. 10
(T TREPHW TR GRAfRe wg e
TIRIA IS 3991 | =

Describe the process of origin and

conduction of heart beat. 10

TR TesifE SIS oIk et 3 <=1 |
Or/t ‘

Write in detail the process of glycolvsi

with illustrations. gycolysis

iR Aferat Retem g =)

Explain in detail the process of
digestion and absorption of

carbohydrate. 5+5=10
WW & SR (MR aiferns Rag qt
|
Or/dl

Where does urea cycle takes place ?
Describe the process of urea cycle.

2+8=10

R 5F F'© WIS =7 2 TR v

AfFaR 39 =01
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